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*1

1 ODoOooboobobbbbn

gooboobooobooboboobboobbooobuoooboobbooboooboon
goooob -gbboobbooboooboobbooboooboobbooboo

gooboobooobooboboobooboon

goooobooboog
goooooogoo
gboboobbogooboo
gobooooo
gooooboogoo
gooogn

11 0oooooooo

gbooboobbooobooobooboboobobooboooboo
gooogn

(x-2a)°
3!

nmzf@+5ifﬂ@+“;?2

£'(a) + R

h=x-aO0O0O

h., o R, . h.
)= f@+ 3@+ 51 @+ @+

f(x+h), f(x-hyOOOoOO

’ ” h2 " h3
fx+h)y=f(x)+f (X)h+ f (x)E + f (X)E...

’ ’” h2 " h3
fx=h)y=f(x)— f (X)h+f (x)E —f (X)E...

1 0pooJooDOoOO0oooOooon
-1 - 1

Y — 1r32



hOOOOODOO0OOOOODOO0OO0OO0 RWOODO0O00O0000000000000

goog  f'(X :%:%(f(m h) — (X))
oooo (% :8—)f(=r—li(f(x)—f(x—h))
gooog  f(x =d—:(=%(f(x+h)—f(x—h))

gbobooobogoboobbooboobbuoobboobooobagn

, df

f= 5 = %}(f(x+ h) — f(x - h))

O00 20000000

p d?f

(=55 = h—lz(f(x+ h) — 2f(x) + f(x— h))

1.2 0000

000000000000000000000D000 [DOoDO0O0OO0)l0000O0O0O0OD0O0
[D00OO0-000]J000000000000000000000000 -0000000000
googn

gooo boooboobboobbooboooboobboobbooboooboobo
gooooobob -gobboobobuooobboobbooobboobboooboo
g
goboobooobooboboobbooboooboobboobboooboooo
gooboobodoo oogboboobboobboobooomobooooboon
gooboobog boooboobpboobbooog

gbooobto oboobbuodobbooboobobuoobboobboooboooboobo
gdoooobooooboooobg

m 00000 Johan Peter Gustav Lejenue Dirichlgt805-1859)

0o000d0doodoo0 ooooobooooooooboo0ooboooooooooooooaao
0do0ooooobooooobooooobooooooooooooooooooon
doodooobooooooooooooooboooooooon
00000000 (n=5)00d00ooDooocoU0UdnO 400000000



2 20000000000000

21 0J00OOO0OOOOOOOOon

2000000

y' = py +q(y+r(x), xe[ab]

go0oogono

Y@ =a, yb)=p

O0o0oo0ooooo -oogooooo 2000000

y =Py +ay+r(ix=x (1<i<N-1)

Oo00 200000

Yie1 — 2W; +Yio1

Yi+1 — Yi-1
h? !

+0(h%) = p Sp HaYi T+ o(h?)

p,g,r 000000 y—->wOdOOO(QOOO0OOO0OOOO0O

Wip1 — 20 + Wig _ B Wis1 — Wi-1
h2 ' 2h

+ giw; + T

00000 y(x0) =a, Yxn) =40 20000 yo>wO OO

20000000000000

Wo = «a
Wiy — 2W + Wip o Wis1 — Wi-1
h2 ' 2h

+gwi+r, 1<i<N-1

Wy =8

22 0JO0OOOO

X, x 00000000000 (0O0)
X1, X0, X3, , Xy 00 00000000000000

X = a+ih
b-a
h:T' hOOooOOO0O0OO0O0D0O0O0D0O000000

e 100D Aw=bOOODO



221 00000 -0000
0000000000 (Coooo

(—1 - gpi)wi—l +(2+ hPg)wi + (—1 + gpi)WHl = —hr;

Wo, Wi, Wo OO0 OO0

(—l — gpl) Wp + (2 + hqu)Wl + (—l + gpl) Wy = —hzri

W=cUOOODOOOOOOOOO

(2 + h%qy)wy + (—1 + gpl) W, = —h’rj + (1 + gpl) a

i=N-10000000000000000000000000

h h
(—1 -5 pN—l) Wn_2 + (2 + hgn_1)Wn_1 = —h?ry_g + (1 -5 DN—l)ﬁ
oano
Wi Wo.Ws, - .Wny, 0000000000000
Aw=b

gooooboogn

dl Uy
|2 d2 0]
|3 d3 us
A=
In-3 On-3 Un-3
IN-2 On—2  Un-2
In-1  On-1)
with
di =2+ hzqi
h
u=-1+ épi



|| =-1- Epl
] - [ 2 h
Wy —h%ry + (1+ Epl)a'
W, —h2r2
WN-2 h?rn-2
| WN-1 | —her_l + (1 - gpN—l),B

AO,l,d,u0 hO p,q 00000000000 0000

23 U0O0OOOoOoobOoOoOod

gobooboogooogn

goobogn

Wo = a

h 2 h 2 .
—1—§pi Wi_1+(2+hqi)Wi+ —1+§pi Wiy1=-hr, 1<i<N-1
WN Zﬁ

Aw =D
AO (N+1)(N+1)0D0O00O000



1 0
dl Uz
|2 d2 )
l3 d3 Uus
A=
INn-3  dn-3  Un-3
In—2 On-2  Un-2
IN-1 Onet
0 1
e o i
Wy —h2|’1 + (1 + Epl)a/
Wo —h2r2
w=| . andd b=
WnN-2 her—Z
h
WN-1 —hryo+ (1 - > Pn-1)8
[ WN | B
2.4 Worked Example
2.4.1 Demonstration Problem 2
Bradie Example 8.2
EXAMPLE
formula U = —(X+1u +2u+(1-x?)e™
boundary condition (0)=1u(1l)=0
h o
i
Xi X = 2
ogooogao

(—1 - gpi)Wi—l + (2 + h?g)w; + (—1 + gpi)WHl = —h?r;




goog

|
|
|
|

h h h h
Xo=0 X1 =.25 Xo = 0.5 X3 =0.75 Xg=1
-1 0
N Dirichlet boundary condition J/
-1 unknown unknown unknown 0

gobogon

b=~ +1)= (14 )
g =2

i i
fi = (L-xP)e = (L-(z))e
e yOODOOOOOODOODO
NB. Demonstration problem 2

NB. u’’'=-(x+1)u’+2u+(1-x"2)e " -x
NB. h=1r4,N=4,u(0,1)=-1,0

fp2=: 3 : ">:(i. >: y) %y’ NB. p’
fg2=: 2: NB. ¢
fr2=: 3 : (1 -y0"2 )* " - y0=. (i. >:y) %y’ NB. r

oooooooooo

00000000 Script0000010 0)00000O

(fp2;£fq2;fr2) calc_mat_2nddif 1r4;4;_1 0

i. #y 0000000000 OOOOO0OO

NO Xo, X1, , X X1 00 00000000 D0O000OOM Newman,Robird OO0 O
ooooooooooo

gboobooobooobooboo
e DirichletC0000000DOOOOODOOODOOODOOOOOO 000000
e NO0ODDOOOODODDODOD-100000000



goo

goo

1 0 Wo -1
-27r32 1%#8 -37r32 0 0 Wi —0.0456329
0 -13r16 148 -19r16 0 w, | = | —0.0284311
0 -25r32  1#%8 -39Ur32 | ws -0.0129163
0 1 Wy 0

x (fp2;fg2;fr2)D000000000O0
y (hN;,OOOOOOOO0O)ex.1r4;4;10

(fp2;£fq2;fr2) calc_mat_2nddif 1r4;4;_1 0

o o +
| 1 0 0 0 0l _1 _1]
|_27r32  17r8 _37r32 0 0/_0.0456329 _0.582559]
| ® _13r16 17r8 _19rl6 0/_0.0284311 _0.301452|
| 0 ® _25r32 17r8 _39r32]_0.0129163 _0.116906|
| 0 0 0 0 1] 0 0]
e ittt il ettt +
O

plot00 h=1r100000Ax=010000

Ja=. (fp2;fqg2;fr2) calc_mat_2nddif 1r10;10;_1 0
’line,marker’plot (0.1*>:i.11 );{:"1 ; {: a



2.4.2 Demonstration Problem 1
Bradie Example 8.1

EXAMPLE
formula —u" + 7°u = 27%sin(zx)
boundary condition (0)=u(1l)=0
1
h =
4
N X = 1
' 4
gooood
p(x) =0
q(x) = 72

r(x) = —272sin(zrx)

NB. Bradie P668
NB. Dirichlet boundary condition

NB. Demonstration proberm 1

fpl=: 0: NB. p
fgql=: 3 : ’1p2*1° NB. * 1 is alternate of 1p2: NB. ¢
fri=: 3 : " 2p2 * 1 0. 1pl * (i. > y) %y’ NB. r

0. oooOOOO
lp2*1 0000000000 100000000
lo. OOOO sin

goo



clean L:0® (fpl;fql;frl) calc_mat_2nddif 1r4;4;0 O

R ettt e L T et +
| 1 0 0 0 0] 0 0]
[_1 2.61685 _1 ® 0/0.872358 0.725371]|
| O _1 2.61685 _1 0| 1.2337 1.02583]
| O 0 _1 2.61685 _1|0.872358 0.725371]|
| O 0 0 0 1] 0 0]
e et T oo +
diff mat wi ans

plot

2.5 Scriptdd

goboobooobooboboon
0000000000000 000ooo0 (2:0000

NB. Usage: (fp2;fq2;fr2) calc_mat_deriv 1r4;4;_1 0
calc_mat_2nddif =: 1 : 0

goboobooguboobo
L:0000D000CDO0000 3000 fp2;fg2;fr2 OO0OO00OOODO

f=: u L:0 IX

li,d,uyy O0O00O0O0W_1,W,W,1 00O



X0=:_1- (-: H) * ;{. £
X1=: 2+ (H"2) * ;1{f
X2=: _1+ (-: ) * ;{. £

Wii,W,W,1 00000000000000000000000000000@O000

XX=: IX adjust_length_sub X0;X1;X2

4 adjust_length_sub 1 ; 2; 3456
123
124
125
126

oooooooog
n|."0 100000000D0OO00O0O0OOO
ooo " e 10000000000O

0 _1_2_3]."011]11i. 44
® 1 2 3
7 4 5 6
10 11 8 9

13 14 15 12

MO=. }.3}: |: (]: XX), ;("1),.(IX-2)#<IX#0 NB. drop top(alx) and last(aNx) line

MX=. (1, IX#0),MO, (IX#0),1 NB. add top and last line
Ml=. ((@,- i.<: IX),0)|."0 1 MX NB. twisted

Dirichlet 0000000000 1000000000000 000000O0O0O0 1000
oooooooooooooo

MX=. (1, IX#0),MO,(IX#0),1
ooboydoboobobooboboobboooboooboobbooboo

YO=. -(H"2)* ;{:f NB. y
YX=. ({.0),¢. }: Y®),{:U

oo00ooooooooooon0 YxX %. M1
M1;YX,. YX %. M1 NB. calc diferential equation



3 00U -dddddodooooon

m000-0000 CarlNeumanl832-19251 0000000 -0000000000O0OO0O
00 -00000000050000000000000000000000D0OO000O0DOOO0
gooooboogboooboooboo

gbooboboobooooobobooboo0o -gobobooobobobobobobobOobobooon
00000000ooooooooc.000o00oooooooooO

Dirichlet 00 u(,t)=u(,t)=0 O0O0O00O0O00u00O00O0O0O0

ou ou ou
NeumanrdO —(0,t)= —(I,t)=0 0000000 -—00000000
154 Y 154 oX
RobinO O — +hu=T 000000 ooooooooooooooooOon

X
m 00 Newman/RobinO OGO OO

L] —_ [ ] —_ [ ] —_ [ —_ [ ]

h h
X Xo=a X1 X2 X3
oooo — Computa tional domain —

>
=y

xX0=¢:0000 -0000000

0ooo0ooooo*

y(a)=a
y(b)=2

goboooo

a1y(a) + azy/ (@ =as

B1Y(@) + B2y (8) = B3

gooooood

20000000000000000000



y =Py +a(y+r(x), xe€[ab]

computationall template

h h
(—1— Epi)Wi—l"‘(z"' h?a)wi +(—1+ épi)WHl: -y
Ub0ood w0000 x=xU0O0OO0o0oood

(—1 - gpo) Wis + (2 + hqu)Wo + (—1 + gpo) Wy = —hzl’o

goooobogooog

W1 — Wi

ary(a) + azy’(a) = a3 = 1Wp + a2 on

:(}{3

wi 0000

2h
Wi = Wp — (a3 — a1Wo)
a2

X=e:O0OODOOODDOOOoOooOoooo

2+h2qy -2+ hm)h =2 |wp — 2wy = —h%rg — (2 + hph™
@2 az

00000000 ey=000000

(2 + h?go)wo — 2wy = —h?rg — (2 + hpo)ha

0000000 x=bOOOOO

—2Wn_1 + |2+ Pan +(2- hpN)h% Wy = —h?ry + (2 - hpN)hﬁ—?’
2 2

00000000 x=bOOOOO

~2Wn-1 + (2 + h?gu)wy = —h?ry — (2 - hpy)hs

coooooooo



Il
o

Aw

AO(N+1)(N+1)0000000

[a11 a1z
|1 dl Uy

L do w

In-1  dn-1 UN-1
AN+1,N  AN+1N+1]

by
—h2r1
—h2r2

4 DU00O0OoooOoooobooooo

20000000000000
godooooooooooooooooOoob0bo0Uooobobob0Loooooooo oo
aood

Y =p()y +a(x)y+r(x) , x<[ab]

Dirichlet y@) =« y(b) =B
Neumann y(a) =« y(b) =8
Robin  a1y(@) + azy () = a3 B1y(b) + B2y (b) = B3



[a11 a2
1 di w
L d w

In-1 dn-a UN-1
AN+LN  AN+1,N+1]

by
—hzrl
—h2r2

0000000000000 900oDooo(@oooooouooo

DD DN DR
ND NN NR
RD RN RR

D = Dirichlrt, N = Newman R = Robin

e Aj)
1 Dirichlet BC x=a
aj = do Neumann BC xa
do + 2hlpar/as Robin BC X=a
® Ao

- 0 Dirichlet BC x=a
1271 -2 othewise



® aAN+1N+1

Dirichlet BC
Neumann BC x b

a _J 0 DirichletBC x=b
N+LN =Y _2  othewise

1
AN+1N+1 = dn
dn - 2hunBi/B2
® an+1N
[ ] bl
a
b = —h2ro + 2hlpa
—hzro + 2hlpaz/az

® bnit

B
bnet = { —h?ry — 2hung
—h?ry — 2hunBs/B2

4.1 Worked Example

Bradie Example 8.3

u” +u=sin3x), xel[0,%]
RobinODO OO x=0
u(0)+u'(0) = -1
Newmand 0000 x= 3
u@g) =1

unifurm partition [Q 5]
h=12 fori=01234

pi=0
g=1
ri = sin(32)

RobinOOOO x=0,a1=a2=1, az=-1
NewmanO O O O x:g,,le

Dirichlet BC
Neumann BC xa

Dirichlet BC
Neumann BC x b



d—% -2 Wo %
-1 d -1 wi| |(B)*sin(E
-1 d -1 Wo | = | (£)*sin(%
-1 d -1ffws| |(E)*sin(Z
-2 dllwy (32 +1%

(fp3;fq3;fr3) calc_2nddiff_all 1r8pl;4; 1 1 _1 ; 1 0 O;’RN’

et e e +
[1.06039 _2 0 0 0| 0.785398 _1.02367|
| _1 1.84579 _1 0 0)_0.142474 _0.935445]
| 0 _1 1.84579 _1 0/_0.109045 _0.560486]
| 0 0 _1 1.84579 _1/0.0590146 0.00995176|
| 0 0 0 _2 1.84579] 0.939611 0.51984|
T et e +
y (ANS)
O3

000000000 Example 810000 (OK)

clean L:0® (fpl;£fql;frl) calc_2nddiff all 1r4;4;0 ® 0; ® ® 0;’'DD’
et et e T Pt e e +

| 1 0 0 0 0] 0 0]

|_1 2.61685 1 ® 0/0.872358 0.725371]|



| O _1 2.61685 _1 0| 1.2337 1.02583]
| O 0 _1 2.61685 _1]/0.872358 0.725371]|
| 0 0 0 0 1| 0 0]

o oo +

5 References

Brain Bradie [A friendly Introduction to Numeric Analsis] Pearson 2006

OO0 A Script

calc_mat_2nddif =: 1 : 0
NB. Usage: (fp2;fqg2;fr2) calc_mat_2nddif 1r4;4;_1 O
NB. another // mat_lp (1rl0; 10;_1 0)
'HIX U'=. y NB. h ; x(i.n); u(®,1)
f=. u L:® IX NB. add N+1 is done at fpx side
X0=._1- (-: H) * ;{. f
X1=. 2+ (H"2) * ;1{f
NB. if. 1=# X1 do. X1=: IX # X1 end.
X2=. _1+ (-: H) * ;{. £
NB. below is expand singleton(because error occure at 1,.1 2 3)
XX=. IX adjust_length_sub X0;X1;X2
NB. - y-——— -
YO=. -(H"2)* ;{:f NB. vy
YX=. ({.O,G. }: YO,{:U
NB. except top(y®) and lasy(yn)line and append Dirichlet boundary condition
NB. ----make extended diff box--------------

MO=. }.}: |: (]: XXD, ;("D),.(IX-2)#<IX#0 NB. drop top(alx) and last(aNx) line
MX=. (1, IX#0),MO,(IX#0),1 NB. add top and last line

Mi=. ((0,- i.<: IX),0)|."0 1 MX NB. twisted

NB. ---calc matrix -----------

M1;YX,. YX %. M1 NB. calc differential equation

)

adjust_length_sub=: 4 : 0



NB. expand to same length

NB. alternative expand_box

NB. y is X0;X1;X2

NB.x is IX

LEN=. ; # L:0 y

INDEX=. +/ INDEXO=. LEN e. >: X
select. INDEX

case. 3 do. XX=.|: ;("1) ,. vy NB. all vector
case. 0 do. XX=.|: ;("1),. (>:x) # L:0 y NB. all scaller
fcase. do.
TMP=. (>: x) # L:® (-. INDEX®) # y NB. expand scallor
TMP=. (INDEX® # y), TMP NB. marge
IND=. (indt_sub INDEX®) i. 0 1 2 NB. expand index
XX=. |: ;("1),. IND { TMP NB. back to origin order
end.
XX
)

NB. find_index
indt_sub=: 3 : '(I. y),I.-.y’

NB. ---—--—- Newman/Robin boundary condition--------
NB. Bradie Example 8.3

fp3=: 0:

fq3=: _1

fr3=: 3 : 7 1 0. 3r8p1 * i. >: 1y’ NB. sin

NB. alphal=alpha2=1 , alpha3=_1
NB. beta=1

calc_2nddiff all =: 1 : @
NB. clean L:0 (fpl;fql;frl) cnr 1r4;4;0 0 0; ® ® 0;’DD’ OK
NB. (fp3;fq3;fr3) cnr 1r8pl;4; 1 1 _1 ; 1 0 0O; RN’
’H IX ALPHA BETA TYPE'=: y
NB. h ; x(i.n); 6 disimal(alpha 1 2 3 beta 1 2 3)



NB. TYPE is ’'DD’, DN’ ,’DR’....... RN’ ,’RR’ NB. 9type
f=: u L:0 IX

NB. x

X0=:_1- (-: H) * ;{. £ NB. Li

X1=: 2+ (H"2) * ;1{f NB. Di

X2=: _1+ (-: H) * ;{. £ NB. Ui

NB. below is expand singleton(because error occure at 1,.1 2 3)
XX=: IX adjust_length_sub X0;X1;X2
NB. - calc x and y---—--———==— -~
Y0=: -(H"2) * ;{: £ NB. {: fisr //-h"2*r
NB. -h"2* r® <----- body of y NB. over item is last
BX0=: ({. YO + +: H * {. X0 NB. (-2h"2 r®) + 2h* 1_0 <-- top bl
BXN=: ({: Y®) - +: H * {: X2 NB. (-2h"2*r_n) - 2h* u_n <--bn
NB., -

NB. ----matrix-calc all al2 and bl----—--———--——-
NB. All=. Al12=. ANL=. ANR=. Bl=. BN=. 0 NB. reset
INDO=: I. ’DNR’ e. {. TYPE NB. top line of a,b

NB. Newman

if. 0= ;INDO do. NB. Dirichlet

All=. 1
Al12=. 0
Bl=. {. ALPHA
end.
if. 1 = ; IND® do.
All=. {. X1 NB. keypoint = dO®
Al2=. _2 NB. neighbore
Bl=. BX® * {. ALPHA
end. NB. alpha
NB. Robin
if. 2 = ; IND® do.
All=. ({.X1) + +: H * X0 * %/ 2{. ALPHA NB. alphal/alpha2
Al2=. _2

Bl=. BX® * %/ 2 1 { ALPHA NB. alpha3/alpha2
NB. Dirichlet
end.
NB. ----matrix-calc an-1 an2 and bn---------------———————————-
IND1=: I. 'DNR’ e. {: TYPE NB. last line of a,b



NB. Newman

if. 0= ; IND1 do. NB. Dirichlet
ANR=. 1
ANL=. O
BN=. {. BETA
end.
if. 1 = ; IND1 do.
ANR=. {: X1
ANL=. _2
BN=. BXN * {. BETA
end.
NB. Robin

if. 2=;IND1 do.
ANR=. ({: X1) - +: H* ({: X2) * ({. BETA) % 1{. BETA NB. betal/beta2
ANL=. _2
BN=. BXN * %/ 2 1 { BETA NB. beta 3/beta2
end.
NB., - - ==
YX=: B1,(}.}:Y0®),BN NB. drop last// NB. y main
NB. ----make extended diff box---------—-----
MO=:}. }: |: (]: XX), ;("D),.(IX-2)#<IX#0 NB. except top and last line
NB. MX=: (Al,_2,(<:IX)#0),M0, ((<:IX)#0), _2,AN
MX=:(A11,A12, (<:IXD#0) , MO, ((<:IX)#0),ANL,ANR
RIND=: (0,(-&i. <: IX),0) NB. rotate index

M1=: RIND |.("® 1) MX NB. twist except top&last
NB. --main = calc matrix -----------
M1 ; YX,.YX %. M1 NB. main = calc differential equation

)



